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SINE(0 {Vin} {Freq} 0 0 0 {Numcyc})

V1

C1

20µ

R2

1k C2

220p

R3

10k

Q1

BC556B

Q2

BC556B

R4

50 R5

50

Q3

BC556B

Q4

BC556B

R7

158

R8

665

470µ

C3

R9

10k

Q5

BC546B

Q6

BC546B

R10

50

R11

50

BC556B

Q7

R14

10k

Q9

KSC1845

R17

1k

C5

75p

R19

68

R24

68

Q13

MJL1302C

Q14

MJL3281C

R28

{Load}

D1

MURS320

D2

MURS320

V2

36

V3

36

470µ

C8

470µ

C9

Q10

KSC1845

Q16

MJL1302C

Q15

MJL3281C

R6

10k

100µ

C4

C6

75p

R25

1k

R31

4

L1

2µ

C11

.1µ

R32

10

R30

.22

R33

.22

R27

100k

R18

.22

R21

.22

Q17

BC546B

R22

22.1

Q8

2SC3503C
R1

158

R13

810

R15

2k

Q11

2SA1381_C

Q12

2SC3503C

C10

.1µ

D3

ZLLS1000

D4

ZLLS1000

R12

57.6

Q18

BC556B

R16

10k

R23

10k

100µ

C7

R26

2525

R29

2475

R20

40

Vin

V
o

u
t

.options plotwinsize=0

.options numdgt=7

.options method=gear

;ac oct 300 10k 200meg

.four {Freq} 9 -1 V(Vout)

.param Vin=1.7

.param numcyc=25

.param Freq=20000/1.024
.tran 0 {stop} {delay} {step}

.param step = (1/freq)/100

.param delay = delaycycles/freq

.param delaycycles=2

.param stop=numcyc/Freq -delay

.options noopiter

;noise V(vout, gnd) V1 oct 10 20 20k

.param load = 8

.param FFT=2**16
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Standard 1% values.
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